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1.A Company is considering a new product line to supplement its range line.
It is anticipated that the new product line will involve cash investment of
$700,000 at time 0 and $1.0 million in year 1. After tax cash, inflows of
$250,000 are expected in year 2, $300,000 in year 3, $350,000 in year 4, and
$400,000 each year thereafter through year 10. While the product line might
be viable after year 10, the company prefers to be conservative and end all

calculations at that time. |
a. If the required rate of return is 15 percent, what is the net present value
of the project? Is it acceptable? (3 points) '
b. What is its internal rate of return? (4 points)
c. What is the project's payback period? (3 points)
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5. Suppose that it costs $2 per ounce per year to store gold, with the payment
being made at the end of the year. Assume that the spot price is $1,000 and the

risk free rate is 3% per annum for all maturities. |
a. Calculate the one year future price of the gold. (5 points)
b. If the actual future price is equal to $1,150, how do you make your

arbitrage profit (What should be bought or sold)? (5 points)

6. A U.S. firm is considering purchasing a subsidiary in Great Britain. The
subsidiary will cost £60 million and will generate cash inflows of £28
million per year at the end of each of the next three years. After that, the
company will be worthless. The current exchange rate is £0.51 British
pounds per $1.00. The U.S. inflation rate is expected to be 3% over this
period. The current risk-free rate of interest in the U.S. is 3% and the
risk-free rate in Great Britain is 5%.

a. What is the approximate rate of inflation in Great Britain? (3
points)

b. What is the cost of the project in U.S. dollars? (5 points)

c. If uncovered interest parity holds, what is the expected spotrate 2
years from now? (5 points)

d. If interest rate parity holds, what is the 1-year forward rate for
exchanging pounds for dollars? (5 points)

e. What is the cash inflow for year 3 in terms of U.S. dollars? (5
points) _

f. Assume the cost of capital for this project is 15% on dollar
investments. What is the NPV of this project using the foreign

currency approach? (5 points) - -
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7. A company has determined that its optimal capital structure consists of
40 percent debt, 10 percent preferred stock, and 50 percent equity. The
interest rate on the company’s debt is 11 percent. The preferred stock pays
an annual dividend of $2 and sells for $20 a share. The company’s
common stock trades at $30 a share, and its current dividend of $2 a share
is expected to grow at a constant rate of 8 percent per year. The flotation
cost of external equity is 15 percent of the dollar amount issued, while the
flotation cost on preferred stock is 10 percent. The company’s tax rate is 1
33 percent. Assume the firm will not have enough retained earnings to
fund the equity portion of its capital budget. What 1s the company’s
weighted average cost of capital (WACC)? (20 potrits)
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Tabic A-2 ¢ Present Yalue of an Annuity of §1 per Period for o Periods:
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l 0.9901 0.9804 0.970% 0.9615 0.9524 0.94M 0.9346 0.9259 0.9174 00091 03929 08772 0855 086821 08675 05323  0.5065  0.7813
2 1.9704 1.9416 1.9135 1.8861 1,854 1.8334 10080  1.7333 1.759% 1.7355 1.6501 1.0467 16257 16052 15656 15273 L4568  1.96
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4 3.9020 3.8077 3NN 3.6299 3.5460 3.45651 3.3 3NN 1.2%7 3.1699 30373 19137 13550 217982 26900 25887 L4043  2.24)0
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) 19.6604 17.6580 159369  14.491) 120630  12.0416  11.0612  10.2007 0.4424 87715  2.6446 £ 63587 60313 54099 49096 41300 15558
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25 2032 195135 17.4n 15.623} 14.0939 127834 116536  10.5748 9.6226 9.0770  7.B431 65729 64643 60971 54669 476 41674 1.5640
26 72,7952  20.210 178768 159518 14.3752 130032 1L.m%a 10.8100 9.9290 9.1609 70937 69081 64906 60182 S.4BOM 49563 41511 3.56%¢
2?7 135596 207060 1370 163296 146030 13.2105  11.9867  10.9357  .10.0266 9.2372 2M26 69352 635135 61364 54919 49636 4150  3.5689
y: | 143164 212313 18,7641 16.6631 14.6981  13.4062 121371 110511  °10.116} 93066 7OB44  £.9607 63338  6.1520 55016  4.9697 41366  1.56%
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a8 204085  24.9986 214872 18.6646 163742 14.4962 120477, 116546  10.5668 96442 81735 70700 66166  S.2153  S5385 49915  4.3644 15708
40 REM? 22385 2 DI4E 1998 17.1591  15.0463 133317 119246 10.7574 92791 82438 7050 66418 62335 55482 49966  L1&%9  AS5M2
45 36.0M5 2940 45187 207200 17.774 1S.4558  13.6055 121084 10.8812 98628 B.2825 71232 66543  &2421 55523 49906  4.1664 V574
50 29.196) N436 257298 48R 182559 157619  13.8007  12.713% 10.9617 99148 BIES 71X 66605 52463 35541  4.9995 41666 35714
55 40472 133748 287744 221086 18.6335 159905  13.9999%  12.018% 11.0140 - 99471  B8.3170 7376 66636  6.2482 55549 49998  4.10686  A5TI4
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